College Claparéde Exercices de Mathématiques
1°° Calcul littéral - Série n° 6

O Calculez et simplifiez :

4a* +12a+9
a - - = n
) 4a®> -9 )

x4y_xy4
*ya’—da—4 B Nl—lj:
d) @ T a = ) 1+x+1—x2 X
2—a
2
e) l-a _

(1 + ax)2 - (a + x)2

x> —4x*y’? ' 2y° =2

H 3xy+3x 2y2—y—1:

g) 12 3 2 3 1
9-a> 3+a 3-a

h) 6 B 4 N 120x _

1-x 1+x x"-1

i) a —b’ _azb—ab2 3
a’ —b? a’+ab

J) 1 N 1 N 2
x> =3x+2 x*—-x-2 x*-1

k) 5 : 3 i x _
2x+4 x"+3x+2 x —x-2
Y4+5 6 6-(x2+2)

1) 2 - 3 =
x—1 x"+x+1 x =1
x—x* 1+x 1-2x

m) —+ -

1+ 2x+ x? - 1-x



